w:.-%[) why bwmil  ap s

=y

Slbpt Q‘p

SLC‘\V 4"‘3 YA - ~ dl‘.f‘l‘fl'é \(’I‘CJ
A& each Poia € Lovsl foben S/t

w~ el o

e "
C/ - I—l‘/l ":/ : e ‘- l ! T
O’ X = N@ = ‘ “
slope of ‘ _\jﬁ\ \\[\\ v
Shewy il el / / /\\}\\

akt Cac h Point o Yng ' ‘i] v, Vi‘) ;

" (Stope of

1

Moment J'ﬂ()fﬂm

\
\.

A \ (Slope of
\ \' l. T S M diagram)
PRI :
- )
/’ \\

Nod  take ) | x

= (ﬁ/ho"\ £ bo
e [

Eqnarhion s @MJO
J’UG‘) dx

]

- Imy & B N o
! = ! 3 '733'—:%
Areo
v \\

\ AV (Change in
%“;]/ ¥isgeauD)

/p;‘"
A
AM (Change in

4 diagram)

S\/\tn\\/ = =i B, L«\V\AQW

é Vet b Ffol Laa o "

m




CiMA=°

iy Loy Bl o) 1 | \L

~320(-ys)=2 e
B EB8 g / Té’“/

ki
FY = Fhss | | c

/ a e
e r7 ’9% = Bl = 1’-/?8 ek S

W3 x




6-91. The beam has the rectangular cross section shown.

If P = 15KkN, determine the maximum bending stress in 15 kN 1.5 kn
the beam. Sketch the stress distribution acting over the.
cross section.
—
0&m | 05m | 05m
i ; v 50 mm S0k 1508
0.5 m ——— 0.5 m——sp=—0S M= =
' i i y V(kN)
e ] [ 100mm
— .50
L% £(m)
g 10 -5
150
Mkm)
Msc :
/fi——— B i e ; X(ﬁ\)
M & gl
% ~0 750
2py | IR
( lu *) i,,

e i o AL Absolute Maximum Bending Stress : The maximum
| \f' i momentis M,,,, =0.750 kN m as indicaed on moment
4 diagram. Applying the flexure formula
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A ,/\.Q {/ b
\;,J} i



6-90.  The beam has a rectangular cross section as shown.

. : P P
Determine the largest load P that can be supported on its ) L O mn
: : ; ; —0Sm——105m I lim—=4 L
overhanging ends so that the bending stress in the beam | "
does not exceed g, = 10 MPa. = == — [
J%; &_
» 3
05m | 05m | 0:5m
g
Absolute Maximum Bending Stress: The maximum v
momentis My, =0.5P as indicated on the moment diagram,
Applying the flexure formula ‘ P
i X
all < Mmuf 0 1o 15 m,
max 1 -P
o 05P(009)
[o(10°) = —
(005)(0.)
. M
P=1666.7N =167 kN Ans
; % = X(m)
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Problem # 3

Use the graphical method (i.e. areas summation) to draw shear force diagram
(SFD) and bending moment diagram (BMD) for beam ABCDE having a hinge at
D.

Note: Reaction Ay= 25 kN (T).

20 KN 40 KN

hinge

A lm B 2w (S 1w D 1w E

Note: E, = 5.0 BN ond Me =005
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%36, Draw the shear and moment diagrams for the 18 kN
overhang bean. | i
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637, Draw the shear and moment ciagrams for the beam. 50 kN/m 50 kN/m
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